(B#H)
S5 B A E ()

4K 58 618 78 8H 9A 108 118 128 18 2H 3H
o 4= =t =3 e AR
1557 phye phye A==k phye
2 16/ 30 | |4 16 16/ | |31
25 1F A——F=—IL g%l g%
14 2 30 14 17 2 31
3247 TR e SRR, ol 5
15/ /29|30 9 24 28 14 15 3 2 31
ESREAR(2FR=L) FREIRAIR A—E kS TE
22/ 1|6
4H 5H 6H 78 8H 9A8 108 118 128 18 2H 3H &t
1S FRRE R 28 0 21 17 31 30 31 2 15 28 16 16 235
25 IFEEE % 14 31 23 17 31 14 0 28 30 3 26 15 232
3FIFEE H% 15 31 16 28 0 16 31 30 15 29 14 31 256
11FEER B 1 0 0 0 0 0 0 0 0 1 0 0
2P EER A # 28 31 30 31 31 30 31 30 30 25 28 31 356
3fFIEER H 0 0 0 0 0 0 0 0 0 3 0 0
2iFEIEE# 1 0 0 0 0 0 0 0 1 2 0 0

KEFRAFORE B RLELAERREZET . 1~3AIZBTH1FERB R, CHBRAZDED BEIFEFLH) ZRRAAELD,




